

Derivative of a Function

$$df \quad y = f(x)$$

$$\frac{dy}{dx} = \lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} = \lim_{\delta x \rightarrow 0} \frac{f(x + \delta x) - f(x)}{\delta x}$$

$$y = f(x)$$

$$y', \frac{dy}{dx}, f', D_y, \dot{f}$$

Exercise 3.2

Q# 01 Find by definition (ab-initio) the derivatives w.r.t. x of the following functions defined as:

(i) $f(x) = 2x$

$$\begin{aligned}
 f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x + \delta x) - f(x)}{\delta x} \\
 &= \lim_{\delta x \rightarrow 0} \frac{2(x + \delta x) - 2x}{\delta x} \\
 &= \lim_{\delta x \rightarrow 0} \frac{\cancel{2x} + 2\delta x - \cancel{2x}}{\delta x} \\
 &= \lim_{\delta x \rightarrow 0} \frac{2\delta x}{\delta x} = 2 \quad \underline{\text{Ans}}
 \end{aligned}$$

(ii) $f(x) = 1 - \sqrt{x}$

$$\begin{aligned}
 f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x + \delta x) - f(x)}{\delta x} \\
 &= \lim_{\delta x \rightarrow 0} \frac{[1 - \sqrt{x + \delta x}] - [1 - \sqrt{x}]}{\delta x} \\
 &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} [\cancel{1} - \sqrt{x + \delta x} - \cancel{1} + \sqrt{x}] \\
 &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} [(\sqrt{x} - \sqrt{x + \delta x}) \times \frac{(\sqrt{x} + \sqrt{x + \delta x})}{\sqrt{x} + \sqrt{x + \delta x}}] \\
 &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{(\sqrt{x})^2 - (\sqrt{x + \delta x})^2}{\sqrt{x} + \sqrt{x + \delta x}} \right] \\
 &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{x - x - \delta x}{\sqrt{x} + \sqrt{x + \delta x}} \right] \\
 &= \lim_{\delta x \rightarrow 0} \frac{-1}{\sqrt{x} + \sqrt{x + \delta x}} = \frac{-1}{\sqrt{x} + \sqrt{x}} = \frac{-1}{2\sqrt{x}} \quad \underline{\text{Ans}}
 \end{aligned}$$

(iii)

$$\begin{aligned}f(x) &= \frac{1}{\sqrt{x}} \\f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x} \\f'(x) &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{1}{\sqrt{x+\delta x}} - \frac{1}{\sqrt{x}} \right] \\&= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{(\sqrt{x} - \sqrt{x+\delta x}) \times (\sqrt{x} + \sqrt{x+\delta x})}{\sqrt{x+\delta x} \sqrt{x} (\sqrt{x} + \sqrt{x+\delta x})} \right] \\&= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{x - x - \delta x}{\sqrt{x+\delta x} \sqrt{x} (\sqrt{x} + \sqrt{x+\delta x})} \right] \\&= \lim_{\delta x \rightarrow 0} \frac{-1}{\sqrt{x+\delta x} \sqrt{x} (\sqrt{x} + \sqrt{x+\delta x})} \\&= \frac{-1}{\sqrt{x} \sqrt{x} (\sqrt{x} + \sqrt{x})} = \frac{-1}{x (2\sqrt{x})} = \frac{-1}{2x\sqrt{x}}\end{aligned}$$

(iv)

$$\begin{aligned}f(x) &= 3 - x^2 \\f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x} \\&= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\{3 - (x+\delta x)^2\} - \{3 - x^2\} \right] \\&= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[3 - (x^2 + \delta x^2 + 2x\delta x) - 3 + x^2 \right] \\&= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\cancel{3} - \cancel{x^2} - \delta x^2 - 2x\delta x - \cancel{3} + \cancel{x^2} \right] \\&= \lim_{\delta x \rightarrow 0} \frac{\cancel{\delta x}}{\cancel{\delta x}} \left[-\delta x - 2x \right] \\&= 0 - 2x = 2x \quad \underline{\text{Ans}}\end{aligned}$$

$$(v) \quad f(x) = x(x+1) = x^2 + x$$

$$\begin{aligned} f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x} \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\{(x+\delta x)^2 + (x+\delta x)\} - \{x^2 + x\} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\cancel{x^2} + \delta x^2 + 2x\delta x + \cancel{x} + \delta x - \cancel{x^2} - \cancel{x} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{\delta x}{\delta x} \left[\delta x + 2x + 1 \right] = 0 + 2x + 1 \\ &= 2x + 1. \end{aligned}$$

$$(vi) \quad f(x) = x^2 - 3$$

$$\begin{aligned} f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x} \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\{(x+\delta x)^2 - 3\} - \{x^2 - 3\} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\cancel{x^2} + \delta x^2 + 2x\delta x - \cancel{3} - \cancel{x^2} + \cancel{3} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{\delta x}{\delta x} \left[\delta x + 2x \right] = 0 + 2x \\ &= 2x. \end{aligned}$$

$$(vii) \quad f(x) = x^3 + 5 \quad \checkmark$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x}$$

$$\begin{aligned} (a+b)^3 &= a^3 + b^3 + 3a^2b + 3ab^2 \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\{(x+\delta x)^3 + 5\} - \{x^3 + 5\} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\cancel{x^3} + \delta x^3 + 3x^2\delta x + 3x\delta x^2 + \cancel{5} - \cancel{x^3} - \cancel{5} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{\delta x}{\delta x} \left[\delta x^2 + 3x^2 + 3x\delta x \right] \\ &= 0 + 3x^2 + 0 = 3x^2. \end{aligned}$$

(viii)

$$f(x) = 4x^2 - 3x \checkmark$$

$$\begin{aligned} f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x + \delta x) - f(x)}{\delta x} \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\{4(x + \delta x)^2 - 3(x + \delta x)\} - \{4x^2 - 3x\} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[4(x^2 + \delta x^2 + 2x\delta x) - 3x - 3\delta x - 4x^2 + 3x \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\cancel{4x^2} + 4\delta x^2 + 8x\delta x - \cancel{3x} - 3\delta x - \cancel{4x^2} + \cancel{3x} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{\delta x}{\delta x} \left[4\delta x + 8x - 3 \right] = 0 + 8x - 3 \\ &= 8x - 3. \end{aligned}$$

(ix)

$$f(x) = \frac{1}{x+2}$$

$$\begin{aligned} f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x + \delta x) - f(x)}{\delta x} \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{1}{x + \delta x + 2} - \frac{1}{x + 2} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{\cancel{x+2} - x - \delta x - \cancel{x}}{(x + \delta x + 2)(x + 2)} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{\delta x}{\delta x} \left[\frac{-1}{(x + \delta x + 2)(x + 2)} \right] = \frac{-1}{(x+2)(x+2)} \\ &= \frac{-1}{(x+2)^2} \quad \underline{\text{Ans}} \end{aligned}$$

Akhtar Abbas.
0332-6297570.

(x)

$$f(x) = \frac{3}{2x+5}$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x}$$

$$= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{3}{2(x+\delta x)+5} - \frac{3}{2x+5} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{3}{\delta x} \left[\frac{1}{2x+2\delta x+5} - \frac{1}{2x+5} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{3}{\delta x} \left[\frac{\cancel{2x+5} - \cancel{2x} - 2\delta x - \cancel{5}}{(2x+2\delta x+5)(2x+5)} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{3 \cancel{\delta x}}{\delta x} \left[\frac{-2}{(2x+2\delta x+5)(2x+5)} \right]$$

$$= 3 \left[\frac{-2}{(2x+5)(2x+5)} \right]$$

$$= \frac{-6}{(2x+5)^2} \quad \underline{\text{Ans}}$$

Q #02 Find $f'(x)$ for the following functions using definition:

(i) $f(x) = \sqrt[3]{2x+1} = (2x+1)^{\frac{1}{3}}$

$$\begin{aligned} f'(x) &= \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x} \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(2(x+\delta x)+1)^{\frac{1}{3}} - (2x+1)^{\frac{1}{3}} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(2x+2\delta x+1)^{\frac{1}{3}} - (2x+1)^{\frac{1}{3}} \right] \\ &= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(\underline{2x+1} + \underline{2\delta x})^{\frac{1}{3}} - (2x+1)^{\frac{1}{3}} \right] \end{aligned}$$

Formula $(a+b)^n = a^n + n a^{n-1} b + \frac{n(n-1)}{2!} a^{n-2} b^2 + \dots$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(2x+1)^{\frac{1}{3}} + \frac{1}{3} (2x+1)^{\frac{1}{3}-1} (2\delta x) + \frac{1}{3} \left(\frac{1}{3}-1\right) (2x+1)^{\frac{1}{3}-2} (2\delta x)^2 + \dots - (2x+1)^{\frac{1}{3}} \right]$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\frac{1}{3} (2x+1)^{-\frac{2}{3}} 2\delta x + \frac{1}{3} \left(\frac{1}{3}-1\right) (2x+1)^{-\frac{5}{3}} 4\delta x^2 + \dots \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{\cancel{\delta x}}{\cancel{\delta x}} \left[\frac{1}{3} (2x+1)^{-\frac{2}{3}} 2 + \frac{1}{3} \left(\frac{1}{3}-1\right) (2x+1)^{-\frac{5}{3}} 4\delta x + \dots \right]$$

$$= \frac{1}{3} (2x+1)^{-\frac{2}{3}} 2 + 0 + 0 + \dots$$

$$= \frac{2}{3} (2x+1)^{-\frac{2}{3}} = \frac{2}{3 (2x+1)^{\frac{2}{3}}} \quad \underline{\text{Ans}}$$

$$(ii) \quad f(x) = (2x-1)^{-\frac{1}{2}}$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x}$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(2(x+\delta x)-1)^{-\frac{1}{2}} - (2x-1)^{-\frac{1}{2}} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(2x-1+2\delta x)^{-\frac{1}{2}} - (2x-1)^{-\frac{1}{2}} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[\cancel{(2x-1)^{-\frac{1}{2}}} + \left(-\frac{1}{2}\right)(2x-1)^{-\frac{1}{2}-1} (2\delta x) + \frac{\left(-\frac{1}{2}\right)\left(-\frac{1}{2}-1\right)}{2!} (2x-1)^{-\frac{1}{2}-2} (2\delta x)^2 + \dots - \cancel{(2x-1)^{-\frac{1}{2}}} \right]$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{\cancel{\delta x}}{\cancel{\delta x}} \left[-\frac{1}{2} (2x-1)^{-\frac{3}{2}} 2 + \frac{\left(-\frac{1}{2}\right)\left(-\frac{1}{2}-1\right)}{2!} (2x-1)^{-\frac{5}{2}} 4\delta x + \dots \right]$$

$$= -\frac{1}{2} (2x-1)^{-\frac{3}{2}} 2 + 0 + 0 + \dots$$

$$= \frac{-1}{(2x-1)^{\frac{3}{2}}} \quad \text{Ans}$$

$$(iii) \quad f(x) = (6x+7)^{\frac{5}{2}}$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x}$$

$$= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(6(x+\delta x)+7)^{\frac{5}{2}} - (6x+7)^{\frac{5}{2}} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(6x+7 + 6\delta x)^{\frac{5}{2}} - (6x+7)^{\frac{5}{2}} \right]$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(6x+7)^{\frac{5}{2}} + \frac{5}{2}(6x+7)^{\frac{5}{2}-1} 6\delta x + \frac{5(5-1)}{2!}(6x+7)^{\frac{5}{2}-2} (6\delta x)^2 + \dots - (6x+7)^{\frac{5}{2}} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{\delta x}{\delta x} \left[\frac{5}{2} (6x+7)^{\frac{3}{2}} 6 + \frac{5(5-1)}{2!} (6x+7)^{\frac{1}{2}} 36 \delta x + \dots \right]$$

$$= \frac{5}{2} (6x+7)^{\frac{3}{2}} 6 + 0 + 0 + 0 + \dots$$

$$= 15 (6x+7)^{\frac{3}{2}} \quad \underline{\text{Ans.}}$$

$$(iv) \quad f(x) = (3x-5)^{-\frac{3}{2}}$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{f(x+\delta x) - f(x)}{\delta x}$$

$$= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(3(x+\delta x)-5)^{-\frac{3}{2}} - (3x-5)^{-\frac{3}{2}} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(3x-5+3\delta x)^{-\frac{3}{2}} - (3x-5)^{-\frac{3}{2}} \right]$$

$$f'(x) = \lim_{\delta x \rightarrow 0} \frac{1}{\delta x} \left[(3x-5)^{-\frac{3}{2}} + \left(-\frac{3}{2}\right)(3x-5)^{-\frac{3}{2}-1} 3\delta x + \frac{\left(-\frac{3}{2}\right)\left(-\frac{3}{2}-1\right)}{2!} (3x-5)^{-\frac{3}{2}-2} (3\delta x)^2 + \dots - (3x-5)^{-\frac{3}{2}} \right]$$

$$= \lim_{\delta x \rightarrow 0} \frac{\delta x}{\delta x} \left[-\frac{3}{2} (3x-5)^{-\frac{5}{2}} 3 + \frac{\left(-\frac{3}{2}\right)\left(-\frac{3}{2}-1\right)}{2!} (3x-5)^{-\frac{7}{2}} 9\delta x + \dots \right]$$

$$= -\frac{3}{2} (3x-5)^{-\frac{5}{2}} 3 + 0 + 0 + \dots$$

$$= -\frac{9}{2} (3x-5)^{-\frac{5}{2}} = \frac{-9}{2(3x-5)^{\frac{5}{2}}}$$


 MURTAZA ABAS
 0832-6297570